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QUESTION 1

Scenario: A Citrix Engineer recently implemented a Provisioning Services environment, which still has all
the default configurations and uses a standalone SQL Server 2008 R2 machine to host the Farm
database. No shared storage is available.

Management would like to expand the environment so that it can be used to support several critical use
cases within the organization. The following requirements must be met regards to the Farm database:
-The solution must ensure that all Farm functionality is retained if the primary database server becomes
unresponsive.

-The solution must NOT require manual administrator intervention during the failure.

-The solution must NOT require any upgrades to existing FARM components.

Which configuration will meet all the requirements of this scenario?

A. SQL Always On Availability Group

B. Offline database support

C. SQL Mirroring

D. SQL Clustering

Correct Answer: B

QUESTION 2

Scenario: A Citrix XenApp Administrator notices that one Citrix XenApp server is hanging during the weekly restart
phase. The IMA Service appears to hang during startup.

Which two options could explain the cause of the issue? (Choose two.)
A. The data store is corrupt.

B. The local host cache is corrupt.

C. The server restarted only one time.

D. A data collector election has occurred.

Correct Answer:. AB

QUESTION 3
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A Citrix Engineer has enabled Local Host Cache in a XenDesktop Site to manage outage situations.

Which three resources are supported by the Local Host Cache at the time of a database outage? (Choose three.)
A. Pooled VDI desktops created by Machine Creation Services (MCS)

B. Server-Hosted applications

C. Server-Hosted desktop

D. Static (assigned) desktops

E. Pooled VDI desktops created by Provisioning Services (PVS)

Correct Answer: BCD

Local Host Cache is supported for server-hosted applications and desktops, and static (assigned) desktops; it is not
supported for pooled VDI desktops (created by MCS or PVS).

Reference: https://docs.citrix.com/en-us/xenapp-and-xendesktop/7-13/manage-deployment/local-hostcache.html

QUESTION 4

Scenario: When configuring a Web Interface site, an administrator configures port 8000 for Citrix XML
Service communications. During internal testing, the administrator sees that application enumeration does
NOT occur.

Where else does the administrator need to configure the Citrix XML Service port?

A. Farm properties.

B. Citrix Computer policy.

C. Worker Group properties.

D. Citrix Receiver properties.

Correct Answer: B

QUESTION 5

Scenario: A Citrix Engineer is managing an existing XenDesktop and Workspace Environment Management (WEM)
infrastructure. The engineer performed recent benchmarks on all the user applications. As a result of this investigation,
the engineer sees that a small number of user applications are experiencing random high CPU spikes, causing overall
performance degradation within user sessions.

Which step can the engineer take to improve the overall performance within the user sessions?

A. Enable CPU Usage Limit and Idle Priority Time

B. Enable CPU Usage Limit and Exclude Specified Processes
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C. Enable CPU Usage Limit and Intelligent CPU Optimization
D. Enable Process Affinity and Exclude Specified Processes

Correct Answer: A
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